o0 ard S0t 2 Money 2 QL%

X ‘J" ts Of ﬂwy
oot

Trueorfdse?./orx.
I. €2-20c- 10c=<€1-60
2. €1-10c-5¢c=€085
3. €2-€l-20c=¢€080
k. €1.50-20c-20c-10c=€l-05
5 €2-20c-20c-5c=€065 |
[Z] Fill in the amounts on the blank coins.

000@@@@@

Which 2 coins make up 12¢? 2.  Which 3 coins make up 115¢?

OO OO0

3. Which 3 coins make up 17¢? % Which 5 coins make up 108¢c?

000 00000

5. Which 5 coins make up €1-16? 6. Which 3 coins make up 62¢?

90000 OO0

7. Which 7 coins make up 106¢c? 8. Which 6 coins make up €1-187?

OOO00000  OCOOOOO

Which 10 coins make up 65¢?  10. Which 9 coins make u S €1.58?

" 00000 OO0
90006 0000

In your copy. Amy bought a toy using only @ @ @ coins.
It cost her 45c. There are 8 different ways to pay 4¥5c exactly using only the
above coins. Find as many as you can.




